
Subject: Re: WSet to negative value
Posted by Brian Daniel on Tue, 18 Jan 2011 12:49:52 GMT
View Forum Message <> Reply to Message

On Jan 18, 5:17 am, Wox <s...@nomail.com> wrote:
>  IDL> print,!version              
>  { x86_64 linux unix linux 8.0 Jun 18 2010      64      64}
>  IDL> plot, sin(findgen(30)*0.135)
>  IDL> window, 1                    
>  IDL> plot,cos(findgen(30)*0.135)  
>  IDL> wset,-1                    
>  IDL> xyouts,0.5,0.5,'Dada',/normal   ; appears in window 1
>  IDL> wset,-2                    
>  % WSET: Window is closed and unavailable.
>  % Execution halted at: $MAIN$          

I get the same result.

IDL> print,!version
{ x86_64 darwin unix Mac OS X 7.1.1 Aug 19 2009      64      64}
IDL> plot,sin(findgen(30)*0.135)
IDL> window,1
IDL> plot,cos(findgen(30)*0.135)
IDL> wset,-1
IDL> xyouts,0.5,0.5,'Dada',/Normal ; appears in window 1
IDL> wset,-2
% WSET: Window is closed and unavailable.
% Execution halted at: $MAIN$

Page 1 of 1 ---- Generated from comp.lang.idl-pvwave archive

http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=6897
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=31851&goto=74413#msg_74413
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=74413
http://idlcoyote.com/comp.lang.idl-pvwave/index.php

